
EXERCISE-1
A

Q.1 

Q.2 ? 

Q.3 ? 

Q.4 
, 

? 

Q.5 
? 

Q.6 ? 

Q.7 g  G 
Q.8  g 

Q.9  
? 

Q.10 
? 

Q.11 
? 

Q.12 , 

? 

Q.13 

? 

Q.14 , g 
? 

Q.15 g ? 

 B. 
Q.16 

, 
? 

 

Q.17 , 
? 

 

Q.18 
? 

Q.19 

- 

Q.20 , 
? 

Q.21 -

Q.22 

? 



Q.23 100 kg 60 kg 
5 m 

Q.24 4 
, 

? 

Q.25 50 kg 

= 6 × 1024 kg, 
= 6.4 × 106  m  G = 6.67 × 10–11Nm2/kg2. 

Q.26 , 
? 

Q.27 G , 

? 

Q.28 80 kg 
16 cm , 

( G = 6.67 × 10–11 Nm2/kg2) 

Q.29 

10
1  th 

1/2 g 

Q.30 
25 kg  ? 

 C. 
 

Q.31 (gravitation and 
gravity) 

Q.32 

Q.33 , g 

Q.34 

= 2 × 1030 kg, 
= 7.35 × 1022 kg, 

= 1.5 × 1011 m, 
= 3.84 × 108m. 

Q.35 160 N 
3.6 × 106 m. 

= 6.4 × 106 m. 



EXERCISE # 2 


Q.1 : 

(A) 
(B) 
(C) 

(D) 

Q.2 
: 

(A) 
(B) 
(C) 
(D) 

Q.3 , 
: 

(A) 
(B) 
(C) 
(D) 

Q.4    G S.I. : 
(A) Nm2 kg–2 (B) Nm kg–2 
(C) N kg2M–2 (D) Nkg m–2 

Q.5 : 
(A) 
(B) 
(C) 
(D) 

Q.6  G S.I. : 
(A) 6.67 × 10–9  (B) 6.67 × 10–10 
(C) 6.67 × 10–11    (D) 6.67 x 10–12 

Q.7  r 
: 

(A) 1/r (B) 1/r2 
(C) r (D) r2 

Q.8. 1900 G 6.673 × 10–11 Nm2 kg–2

, 2007 G : 
(A) 6.673 × 10–9 Nm2 kg–2  
(B) 6.673 × 10–10 Nm2 kg–2 
(C) 6.673 × 10–2 Nm2 kg–2  
(D) 6.673 × 10–11 Nm2 kg–2 

Q.9 G 6.673 × 10–11 
Nm2 kg–2 G 

:  
(A) 12 × 6.673 × 10–11 Nm2 kg–2 
(B) 12

673.6  × 1 0–11 Nm2 kg–2

(C) 6.673 × 10–11 Nm2 kg–2 
(D) 6

673.6  × 10–11 Nm2 kg–2

Q.10 1020 N 

: 
(A) 10–20 N (B) 102 N 
(C) 1020 N (D) 1010 N 

Q.11 : 
(A) (B) 
(C) (C) 



Q.12 : 
(A) 
(B) 
(C) 
(D) 

Q.13 : 
(A) (B) 
(C) (D) 

Q.14 : 
(A) 

(B) 

(C) 8.9 ms–2

(D) 

Q.15 (g) 
:  

(A) 6.67 x 10–11 Nm2 kg2 
(B) 8.9 m/sec2  
(C) 9.8 m/sec2  
(D) 

Q.16 : 
(A) 
(B) 
(C) 
(D) 

Q.17 
, 

(A) 19.6 ms–2 (B) 9.8 m/s–2 
(C) 4.9 m/s2 (D) 2.45 ms–2 

Q.18 
, 

:  
(A) 19.6 m/sec2  (B) 9.8 m/s2 
(C) 4.9 ms–2 (D) 2.45 m/s2 

Q.19 
20 m 

- 
[ g = 10 ms–2] : 
(A) 5 ms–1  (B) 10 m s–1 
(C) 15 m s–1  (D) 20 m s–1 

Q.20 
: 

(A) 

(B) 
(C) -
(D) 

Q.21 : 
(A) 
(B) 6 
(C) 1/6 
(D) 

Q.22 
Fb 
Fe : 

(A) Fb = Fe  (B) Fb > Fe 
(C) Fb < Fe (D) Fe = 0  

Q.23 1 kg 1 m 
:  

(A) 6.67 N (B) 6.67 × 10–9 N 
(C) 6.67 × 10–11 N  (D) 6.67 × 10–7 N 



Q.24 
: 

(A) 
(B) 
(C) 
(D) 

Q.25 g g 
: 

(A) 6 (B) 6
(C) 6

1 (D) 6
1

Q.26 G S.I. : 
(A) 10–11 (B) 1011 

 (C) 10–7  (D) 107 
Q.27 g S.I. : 

(A) m2/s (B) m/s2 
(C) s/m2  (D) m/s 

Q.28 
: 

(A) 4
1 (B) 4 

(C) 2
1 (D) 2 

 Q.29 , 
- 

(A) 
(B) 
(C) 
(D) 

Q.30 9.8 m/s2

(A) 
(B) 
(C) 
(D) 

Q.31 R 
R 

 - 
(A) 2.45 m/s2 (B) 4.9 m/s2 
(C) 9.8 m/s2 (D) 19.6 m/s2 

Q.32 , 
: 

(A) 
(B) 
(C) 
(D) 

Q. 33 : 
(A) 
(B) 
(C) 
(D) 

Q.34 : 
(A) 
(B) 
(C) -

(D) 

Q.35 : 
(A) 
(B) 
(C) 
(D) 

Q.36 12 kg 
: 

(A) 12 kg (B) 6 kg 
(C) 2 kg (D) 72 kg 



Q.37 : 
(A) 
(B) 
(C) 
(D) 

Q.38 
, 4s 

: 
(A) 19.6m (B) 39.2 m 
(C) 156.8 m (D) 78.4 m 

Q.39 
19.6 m : 
(A) 9.8 ms–1 (B) 44.3 ms–1 
(C) 19.6 ms–1 (D) 98 ms–1 

Q.40 g : 
(A) 
(B) 
(C) 
(D) 

Q.41 500 g 200 g A B, 

A  B aA  aB , : 

(A) aA = aB (B) aA > aB 
(C) aA< aB  (D) aA aB 

Q.42 20 m/s 

: 
(A) 80 m (B) 60 m 
(C) 40 m (D) 20 m 

Q.43 120 N 

: 
(A) 120 N (B) 60 N 
(C) 20 N (D) 720 N 

Q.44 

 - 
(A) (B) 
(C) (D) 



ANSWER KEY 
EXERCISE-1 

1. F = G m1 m2 /r2 2. 6.67 × 10–11 Nm2/kg2 3. Nm2/kg2 

4. 5. 9.8 m/s2 6. m/s2 7. g = 2R
GM

8. 9. mg/4 10. 
11. 13. 14. 15.   
23. 1.6 × 10–8 N 24. 16 25. 490 N 28. 1. 6675 × 10–5N 
29. 3.92 m/s2 30. 245 N 34. 1800 : 1 35. 81.9 N

EXERCISE-2 
Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans C A D A B C B D C C C D B D C

Ques 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans C D A D A C A C C C A B A D B
Ques 31 32 33 34 35 36 37 38 39 40 41 42 43 44
Ans A B A D C A C D C A A D C B




